WO LEATHERMAN

ACCESSORY USER GUIDE

©2012

BIT KIT

FOR:

MuT®

MUT® EOD
Surge®

Charge® TTi
Charge® AL
Charge® ALX
Wave®
Skeletool®
Skeletool® CX
Expanse® e55B
Expanse® e55Bx
Expanse® e33B
Expanse® e33Bx
Crater® c55B
Crater® c55Bx
Crater® c33B
Crater® c33Bx
Removable Bit Di
Bit Driver Extend

LEATHERMAN TOOL GROUP, INC.

river
er

939759 0512

Caution: This product contains one or more
sharp blades or pinch points. Warranty: See
leatherman.com for more information.

Attention : ce produit contient une ou plusieurs
lames aiguisées ou points de pincement.
Garantie : Pour en savoir plus, visitez le site
leatherman.com.

Achtung: Dieses Produkt weist eine oder
mehrere scharfe Klingen auf. Vorsicht vor

Garantie: ~ Weitere  Informationen  auf

leatherman.com.

Precaucion: Este producto contiene una o
varias cuchillas afiladas o piezas punzantes.
Garantia: Consulte leatherman.com para
obtener mas informacion.

Attenzione: il prodotto contiene lame
afflate e strumenti che comportano
rischio di schiacciamento. Garanzia: Per

Quetschungen beim Offnen und Schliefen.

ulteriori informazioni, consultare il sito web

leatherman.com.

Advarsel: Dette produktet inneholder et eller
flere skarpe blader eller klempunkter. Garanti:
Se leatherman.com for mer informasjon.

Let op: dit product bevat een of meer scherpe
messen of punten. Garantie: Ga naar
leatherman.com voor meer informatie.

pedynpexneHne: [aHHoe wu3fenve uUMeet
OOHO WM HECKOSbKO OCTPbIX nesBuii unu

KOMIOWMX  HakoHeyHukoB.lapaHTus: Bonee
noapo6Has MH(opMaLns npefcTaBneHa Ha
caite leatherman.com.

F9|:

Bl

ol MEo= 45 silo Lotz
EE HAZF Z@Eo] AFLCH EE:
&2 leatherman.comg A ZE3HAAIL,

EE: ORI, FVDEPN—-YT
BHELGVRICER. RE: vz IY1+
leatherman.com & ZE f2E L

R kRG-S M ERNABEX
s, MRfE: FK leatherman.com RELE
258,
EE: KERGS—EXSEEFR NHBER
8. {RE: 7% leatherman.com MWHME
£&H.

TTTTITT

REMOVABLE POCKET CLIP & QUICK-RELEASE LANYARD RING

(="
—

FOR:

Surge®
Charge® TTi
Charge® AL
Charge® ALX
Wave®

) <o T &7 T e

Phillips and Flat Tip Eyeglasses Screwdriver
Pointe cruciforme et plate Tournevis pour lunettes
Kreuz- und Flachschiitz-Uhrmacherschraubendreher
Destornillador Philips y plano para gafas
Cacciavite Phillips e a taglio piatto per occhiali
Brilleskruetraekker med Philips krydskeerv og lige keerv
Stiemetrekker og flattrekker for briller

Screwdrivers 5/32” and 3/16”

Tournevis 5/32" et 3/16”
Schraubendreher 5/32 Zoll und 3/16 Zoll
Destornilladores de 5/32" y 3/16”
Cacciaviti da 5/32" e 3/16”
Skruetreekkere pa 5/32" og 3/16”
Skrutrekker 5/322 og 3/162

Torx #20 and #25

Torx n° 20 and n° 25
Torx Nr. 20 und Nr. 25
Punta Torxn.° 20y n.° 25
Punta Torx 20 e 25
Torx-keerv #20 og #25
Torx nr. 20 og nr. 25

Hex 2.5mm and 3mm

Embout hexagonal 2,5 mm et 3 mm
Sechskant 2,5 mm und 3 mm

Punta hexagonal de 2,5 mmy 3 mm
Punta esagonale da 2,5 mm e 3 mm
Unbraco 2,5 mm og 3 mm
Sekskant 2,5 mm og 3 mm

Hex 1/16” and .050"

Embout hexagonal 1/16” et 0,050"
Sechskant 1/16 Zoll und 0,050 Zoll
Punta hexagonal de 1/16” y 0,050
Punta esagonale da 1/16” e 0,050"
Unbraco 1/16” og 0,050"

Sekskant 1/16” og .050"

Hex 7/32" and 3/16”

Embout hexagonal 7/32" et 3/16"
Sechskant 7/32 Zoll und 3/16 Zoll
Punta hexagonal de 7/32" y 3/16”
Punta esagonale da 7/32" e 3/16”
Unbraco 7/32” og 3/16”

Sekskant 7/32" og 3/16”

OTBGDTKM JANA 04KOB C NNOCKUM
Hakoeumkom i Phillips
Philips % 224 & 944 A3F
TIR[RAFARSAIT
+FH-FREGHET
TR FREELT

cetoltf

OtBeprku 5/32" u 3/16”

AT E2toly 5/32" X 3/16"
7\A 5/32" & 3/16”

5/32" #3/16" BT
5/32" #3/16" 847

Torx #20 n #25

Torx #20 ¥ #25
RLORRSA)C #20 & #25
20# 71 25# WIGIEEMHIET
20# 0 25# MIBIERL T

WWecturpanHbiit 2,5 MM U 3 Mm
2.5mm % 3mm

7B 2.5mm & 3mm

2.5mm 1 3mm X RELHETF
2.5mm # 3mm 7R AERLT]

LLIeawpaHthM 1/16" 10,50"
Hex 1/16" &

A 1/16” & 050

1/16"  #10.050 A FsRAHETF
1/16" #10.050" 7<FAIRLT]

UJECTMrpaHHbIM 7/32" 316"
Hex 7/32" % 3/1

A 7/32" & 3/16"
7/32" #13/16"

7/32" #3/16" NABLT]

NRBKET

Phillips #1 and #2

Phillips n° 1 etn°® 2
Punta Phillips n. 1yn. 2
Punta Phillips 1 e 2
Phillips krydskeerv #1 og #2
Stjernetrekker nr. 1 og nr. 2

Screwdrivers 7/32" and 1/4”
Tournevis 7/32" et 1/4"

Destornilladores de 7/32"y 1/4”
Cacciaviti da 7/32" e 1/4”
Skruetraekkere pa 7/32" og 1/4”
Skrutrekker 7/32" og 1/4”

@
:

Torx #27 and #30

Torx n° 27 and n° 30
Torx Nr. 27 und Nr. 30
Punta Torx n.° 27 y n.° 30
Punta Torx 27 e 30
Torx-keerv #27 og #30
Torx nr. 27 og nr. 30

Hex 4mm and 5mm

Embout hexagonal 4 mm et 5 mm
Sechskant 4 mm und 5 mm

Punta hexagonal de 4 mmy 5 mm
Punta esagonale da 4 mm e 5 mm
Unbraco 4 mm og 5 mm

Sekskant 4 mm og 5 mm

Hex 3/32" and 5/64

Embout hexagonal 3/32” et 5/64”
Sechskant 3/32 Zoll und 5/64 Zoll
Punta hexagonal de 3/32" y 5/64”
Punta esagonale da 3/32" e 5/64"
Unbraco 3/32" og 5/64”

Sekskant 3/32” og 5/64”

Screwdrivers 3/16” and 1/16”
Tournevis 3/16” et 1/16”

Destornilladores de 3/16" y 1/16”
Cacciaviti da 3/16” e 1/16”
Skruetraekkere pa 3/16” og 1/16”
Skrutrekker 3/16” og 1/16”

Kreuzschlitzschraubendreher Nr. 1 und 2

Schraubendreher 7/32 Zoll und 1/4 Zoll

Schraubendreher 3/16 Zoll und 1/16 Zoll

REMOVABLE BIT DRIVER

FOR:

Rebar™

Super Tool® 300
Super Tool® 300 EOD
Crunch®

Blast®

Fuse®

Kick®

Juice® Xe6
Juice® Cs4
Juice® S2

Juice® C2
Expanse® e33T
Expanse® e33Tx
Crater® c33T
Crater® c33Tx

Takes Leatherman bits and
standard 1/4” hex bits

Phillips #1 n #2

Philips #1 % #2
TSRRSAICH#] & #2
4 724 +FRBHET
#F28 +FIRET]

OtBeprkn 7/32" u 1/4”

235 £2lolH 7/32" Y 1/4”
A T7/32" & 1/4"

7/32" #1/4" BEET
7/32" #1/4" B47

Torx #27 n #30

Torx #27 % #30
RLOZRS1N #27 & #30
274# 701 30# WIBIERAHET
274 701304 MIBIERLT]

WWecturpanHbiit 4 MM 1 5 MM
4mm % 5mm

738 4mm” & 5mm”

4mm #1 5mm NAIREETF
4mm #1 5mm AL T)

LLIeawpaHthM 3/32" n5/64”
Hex 3/32" % 5/64"

A 3/32 & 5/64"

3/32" #5/64" NBLIET
3/32" #5/64" NfARLT]

Oteprku 3/16” u 1/16”

237 cato|t] 3/16" X 1/16"
7\A 3/16” & 1/16”

3/16" #1/16" BiFETF
3/16" #1/16" 847

— 1
[ZIUUDUWDE:]

BIT DRIVER EXTENDER

FOR:

MuT® Crater® c33B

MUT® EOD Crater® ¢33Bx

Surge® Removable Bit Driver

Charge® TTi

Charge® AL

Charge® ALX

Wave®

Skeletool® Y
Skeletool® CX E:E:E:E:
Expanse® €558 I:t:t:::}
Expanse® e55Bx E:E:E:E:E
Expanse® e33B :::::::::
Expanse® e33Bx R
Crater® c55B

Crater® c55Bx

Takes Leatherman bits and
standard 1/4” hex bits

REMOVABLE POCKET CLIP (KICK ONLY)

LEATRERMAN®

FOR:
Kick®

Phillips #0 and #3
Phillips n® 0 etn® 3

Kreuzschlitzschraubendreher Nr. 0 und 3

Punta Phillips n.°0y n.° 3
Punta Phillips 0 e 3

Phillips krydskaerv #0 og #3
Stjernetrekker nr. 0 og nr. 3

Square Drive #1 and #2
Embout carré n° 1 et 2

Halter fiir quadratische Bits Nr. 1 und Nr. 2

Punta cuadradan.®1yn.2
Punta quadrata 1 e 2
Firkantet kaerv #1 og #2
Firkanttrekker nr. 1 og nr. 2

Pozi #2 and #1
Pozin®2etn° 1

Pozi Nr. 2 und Nr. 1

Punta Pozin.°2yn.° 1
Punta Pozi2 e 1

Pozidriv krydskaerv #2 og #1

Hex 6mm and 1/4”

Embout hexagonal 6 mm et 1/4”
Sechskant 6 mm und 1/4 Zoll
Punta hexagonal de 6 mm y 1/4”
Punta esagonale da 6 mm e 1/4”
Unbraco 6 mm og 1/4”

Sekskant 6 mm og 1/4”

Hex 1/8" and 7/64”

Embout hexagonal 1/8” et 7/64
Sechskant 1/8 Zoll und 7/64 Zoll
Punta hexagonal de 1/8" y 7/64”
Punta esagonale da 1/8" e 7/64”
Unbraco 1/8” og 7/64"

Sekskant 1/8” og 7/64"

Phillips #0 n #3

Phillips #0 % #3
TSRRSAICH#0 & #3
0# 7 3# +FIBMETF
0# 70 3# +FIRLT]

Screwdrivers 3/32" and 1/8"
Tournevis 3/32" et 1/8"
Schraubendreher 3/32 Zoll und 1/8 Zoll
Destornilladores de 3/32" y 1/8”
Cacciaviti da 3/32" e 1/8”
Skruetraekkere pa 3/32" og 1/8”
Skrutrekker 3/32" og 1/8”

KBappatHbiit xBocToBuK #1 u #2 Torx #10 and #15

”2‘% EE'(O‘E#‘ H#2 Torx n° 10 and n° 15
OERSA/C#1 & #2

14 70 24 HEEBMET Torx Nr. 10 ur;d Nr.15n
14 70 24 77 k8B LT) Punta Torxn.° 10y n.° 15

Pozi nr. 2 og nr. 1 Pozi #2 u #1
Pozi #2 % #1

/1’)!\7'(/\ #2 & #1

24 R 1# RFELET

28 A0 14 KFELT]

Punta Torx 10 e 15
Torx-keerv #10 og #15
Torx nr. 10 og nr. 15

Hex 1.5mm and 2mm

Embout hexagonal 1,5 mm et 2 mm
Sechskant 1,5 mm und 2 mm

Punta hexagonal de 1,5 mmy 2 mm
Punta esagonale da 1,5 mm e 2 mm
Unbraco 1,5 mm og 2 mm

Sekskant 1,5 mm og 2 mm

Wecturpankbiit 6 mm u 1/4” Torx #6 and #3

Gr;m“x 1/4" Torxn° 6.and n° 8

AR 6mm” & 1/4”

6mm A1 1/4" ARBIHET o e g

6mm 1 1/4" BT unta Torx n.° 6 y n.
Punta Torx6 e 8
Torx-keerv #6 og #8

LUe(mrpaHNMw 1/8”M 7/64"
Hex 1/8" %

A 1/8” & 7 64"

1/8" #7/64" INFBLET
1/8" M 7/64" NABLT

:
@
:
:
:

Torx nr. 6 og nr. 8

Hex 5/32" and 9/64”

Embout hexagonal 5/32" et 9/64"
Sechskant 5/32 Zoll und 9/64 Zoll
Punta hexagonal de 5/32" y 9/64”
Punta esagonale da 5/32" e 9/64"
Unbraco 5/32" og 9/64”

Sekskant 5/32" og 9/64"

Oteprku 3/32" u 1/8”

A357 =2toly 3/32" X 1/8”
A 3/327 & 1/8”

3/32" #1/8" BHETF
3/32" #1/8" gL

Torx #10 n #15

Torx #10 ¥ #15
RLORRESA)T#10 & #15
10# 71 15# NIGTERRARET
10# 1 15# PiG1EIRLLT)

WWecturpanhbiit 1,5 Mmu 2 mm
Hex 1.5mm % 2mm

734 1.5mm & 2mm

1.5mm # 2mm A A B4R F
1.5mm #1 2mm RAERLT]

Torx #6 n #8

Torx #6 X #8
MLOZRRS1)X #6 & #8
64 7 8# NIGTLIBMHET
6# 1 8# WIBTERLT)

LLIe(mrpaNHbm 5/32" n9/64
Hex 5/32" % 9/64"

7\A 5/327 & 9/64”

5/32" #19/64" ANABHET
5/32" #19/64" NARELT)



Caution: This product contains one or more Garantie: ~ Weitere  Informationen  auf ulteriori informazioni, consultare il sito web komiowwx HakoHeyHukoB.apaHTus: Bornee E&E: HF=RBE— I B LN EF TIREEE
sharp blades or pinch points. Warranty: See leatherman.com. leatherman.com. nogpobHas uHpopmauusi npeactaeneHa Ha {55, {R1E: % leatherman.com FKEE

leatherman.com for more information. . . caiite leatherman.com. ZER,
Precaucion: Este producto contiene una o Advarsel: Dette produktet inneholder et eller

® Attention : ce produit contient une ou plusieurs <o "o iy oo eyt flere skarpe blader eller Klempunkter. Garanti: o). o zoj= 248t si7je] U7tze EE: LEREGE—ESSEZEF TRHEL
lames aiguisées ou points de pincement. . Se leatherman.com for mer informasjon. . = . A =. 198, {RE: % leatherman.com MWHE
: ) " . Garantia: Consulte leatherman.com para ” Zd == HA7} 2EEof AFUCH BE: 7T
Garantie : Pour en savoir plus, visitez le site Let op: dit product bevat een of meer scherpe ES SHAAID £&H.

UCMNOJNIb30OBAHUE CLEMHOIO ®OPMUPOBATENA BUT
i ot =
H|E EZ}0|H Al — TTTITTTIrTT

t‘\y |\ |\*5,r/\(ﬂyy)%bﬂﬁlé) %{%5 (C) LEATHERMAN® suPER TOOL® 300

{ER R4 EE

R AR B & b """""'%Mm

USING THE BIT KIT EXTENDER |I|
UTILISATION DE LA RALLONGE POUR KIT D’EMBOUTS

EINSATZ DER BIT-KIT-ERWEITERUNG

USO DEL ALARGADOR PARA KIT DE PUNTAS
UTILIZZO KIT EXTRA PUNTE

BRUG AF BIT KIT-FORLAENGER

BRUKE BITSETTFORLENGEREN
UCMONb30BAHUE YONUHUTENA HABOPA BUT
H|E E2}0|H Al

EYRNRSANIIRTIT—%ES

{EA#tEERTE

E A HESKIE AT

cf
leatherman.com. GBI WS (MEmEE messen of punten. Garantie: Ga naar leatherman, com B4l A
. X 5 Attenzione: il prodotto contiene lame leatherman.com voor meer informatie. P e o ayes
Achtung: Dieses Produkt weist eine oder _.. - EE: COHERITIE. FVWDEPN—YT
ACCESSORY USER GUIDE meh:lere sclharfe KIinggn aVLva.I Vorlsicht vor ?ifsf!zitz die Scf]ti;ucr:g::emgheGa:;c:]ngiZ?ﬂ?,lc: pepynpexaeHve: aawHoe wuapenve wmeer EHRE LGWRICER. RiE: v IYA b
© 2012 LEATHERMAN TOOL GROUP, INC. 939759 0512 Quetschungen beim Offnen und SchlieRen. . . OOHO MMM Heckombko OCTpbix nessuit unn leatherman.com 2T f2E LY,
CHANGING BITS VERWISSELEN VAN BITS
CHANGEMENT DES EMBOUTS 3AMEHA BUT
AUSWECHSELN DER BITS HIE &
CAMBIO DE PUNTAS Ew b3
CAMBIO DELLE PUNTE sk
SKIFTE BITS g
T
USING THE REMOVABLE BIT DRIVER m
UTILISATION DU POINCON A TRANCHANT AMOVIBLE
EINSATZ DES ABNEHMBAREN BITHALTERS —
USO DEL SOPORTE PARA PUNTAS EXTRAIBLE (b T R 5 ]
UTILIZZO AVVITATORE RIMOVIBILE
BRUG AF AFTAGELIG BITDRIVER b O
BRUKE DEN AVTAKBARE BITSTREKKEREN NS SNEETNEENE L%LLMN
«—

USING THE REMOVABLE POCKET CLIP AND QUICK-RELEASE |I|
LANYARD RING
UTILISATION DU CLIP DE POCHE AMOVIBLE ET DE L’ANNEAU

FACILE A DETACHER DE LA DRAGONNE L
VERWENDUNG DES ABNEHMBAREN BEFESTIGUNGSCLIPS

UND DER QUICK-RELEASE-ANHANGEOSE ©
USO DEL GANCHO EXTRAIBLE DE BOLSILLO Y DE LA ANILLA DE

SUJECION DE SALIDA RAPIDA >
UTILIZZO DELLA CLIP TASCABILE RIMOVIBILE E DELL’ANELLO

A SGANCIO RAPIDO TIPO LANYARD

BRUG AF AFTAGELIG LOMMECLIP OG QUICK-RELEASE-N@GLERING

BRUKE DEN AVTAKBARE LOMMEKLYPEN OG TALJERINGEN

MUCMONb30BAHUE CbEMHOIO KPEMMHUSA K KAPMAHY U

BEbICTPOPA3BEMHOIO KOJIbLIA ANl PEMHS

Etat 7155t 23 SR w2 22|A ofs 2 Al

Ry N U7 EDSNUETRE) E0 1y oYU —RSY P —RUV T % ES

{E AR IR ER

{FEHA AR HINEREL A LEATHERMAN /O LEATHERMAN

©
il
=
)
o)

WA

LEATHERMAN®

[T I I T T T T TTTT

oIAVM NYWYIHLYIT |(2)
sIAVM NYWHIHLYIT |(©)

wabiey) NYWYIHIYIT
wabieyy ;NYWYIHLVIT

Z e

IMAN® KICK™

ol

WARRANTY GUARANTEE

Check us out on Facebook (www.facebook.com/leathermanusa) for giveaways, tool tales and multi-faceted conversation!

WWW.LEATHERMAN.COM

Tuu m Check us out on You Tube (www.youtube.com/leathermanmedia) for great product demos. Leatherman Tool Group, Inc. P.O. Box 20595, Portland, Oregon 97294



